Final Demonstration of Economic Knowledge

Presentation Rubric

Categories:

Advanced 20pts

Proficient 15pts

Improving 10pts

Needs
Improvement
Spts

Root cause(s) why

Have several

Has a couple

Has the

Has no causes

it would be possible causes possible causes beginning of a
successful of cause
problem
Solution to Has a feasible Has a partially Has a Has no solution
problem solution to the feasible solution | non-feasible at all.
problem to the problem solution to the
problem.

Reasons why it

Has a reason for

Has a reason for

Has fewer than a

Has no reasons

meets the every economic | majority of the majority of the or the economic

Economic principle economic economic principles

Principles principles principles

Why it would be Has a reason to Has a reason to Has a reason to Has no reason

successful the solution that | the solution that | the solution that | why the solution
is strong and is convincing but | is passable for it should be
convincing for lacks strength for | success successful
success success

TOTAL POINTS:

Comments:

80







